Seat No.

Subject Name: Advanced Mathematics (Group-1)

Enrolment No.:

Gujarat Technological University
Diploma Engineering C to D Bridge Course Examination
Subject Code: C320002

Time: 10:30 AM TO 12:00 PM
Instructions:

1.

oA W

No.

10.

11.

Attempt all questions.

Make suitable assumption wherever necessary.

Each question is of 1 mark.

Date: 30/12/2015

Total Marks: 70

Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)

English version is authentic.

Question Text and Option

Real part of the complex no 3+2i is

A 2

C. 0

If Z=4+3ithen |Z|=

A 4

C. 3

If Z=2+i then conjugate complex no Z =
A 2-i

C. 1+2i

Argument 6 of complex no 1+i is
A =

C =
4
If Z;=2+3iand Z,=1+ithen Z1+Z,=
A.  3+4i
C. 4+3i
If a+ib= - then a=
1+2i
A 5
C. 1
In complex no i=
AN
C. Ja

n

(cos@+ising)

o w

Ow

A. Cos"9+isin"0
C. Cosn8 +isinnd
If x*+1=0 then x=

A

C. 1

-

A 2

cC. -2

If f(x) = x*+1 then f(2)=
A 3

C. 2

[EY

[EY

2+i
1-2i

o

2+4i
1+2i

None of these

nCosé + in sind
Cosn® - i sinnd

-i
-1

A and C both
2i

5
1
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12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24,

If f(x)zxi_'_1 then f(x)+ f [%):

A 0 B.

C. 1 D.

If f(x) = logx then f(xy)=

A T()+(y) B.

C.  f(x)f(y) D.

If f(x) = sinx then f (%) =

A 0 B.

c. -1 D.
. X

lim——=

x—=1 X +1 E—

A 2 B.

C. 0 D.
o x"-a"

lim =

X—a X — a

A 0 B.

C. na"t D.
l sin26

60 12 T —

A 1/2 B.

C. 0 D.
271

lim =

x—0 X -

A.  log.2 B.

C.  logex D.
. n

lim—— =

n—w N _|_1 E——

A 12 B.

C. 1 D.
Iim(1+ l} _

n—o0 n -

A0 B.

C. ¢ D.
. x—1

lim————=

x>l X°=3X+2

A -1 B.

C. 2 D.
. 20 -3

lim =

x—0 X

A. log(6) B.

C. log2 D.
d .

—(sinx) =

Sinx=__

A.  -cosx B.

C. sinx D.
d

—~(2") =

o (2)=___

A.  log2 B.

C. 2og2 D.

X
2

f(x)-f(y)
f(x+y)

il CR e

an-l
None of these

-

log(2/3)
log3

COSX
sec’x

2X
2"+log2
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25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

C. 2x1

i(eX +2tanx) =
dx

A. "+ sec’x
C. e*+2secxtanx

d
™ (xlogx)=___
A. x+log x
C. x-logx
di(sin2 X) =
X
A.  sinxcosx
C. Sin2x
d X+
& (92 5) =_
A. e2X+5
C e2X
2
% (cosx) =
A.  -sinx
C. -cosx

If y=sint and x=1+cost then dy _

A. -cot X
C. tanx

%(Iog(sin X)) =

A. cotXx

C. -tanx

) —

dx\ x+1

A. -1
(x+1)°

C. 1
(x+1)°

d 24X

—(xe") =

dx( )=

A, 2x+e*

C. 2xe&*

If y=2at and x=at’ then j

At
C. 2a

If s=t*>+2t+1 then at t=1 sec velocity v=

A.  2m/s
C. 1mls

If f'(a)=0and f"(a)>0thenfis

B.
D.

2X+ =

2 sec’x
e*+2 sec®x

1/x
1+log x

2sinx
cos?X

2e2X+5
2xe2X+5

sinx
COSX

cot X
-tan x

tanx
-CotXx

1
(x+1)

X
(x+1)°

(x*+2x)e*
None of these

4 m/s
3m/s
at “a”
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38.

39.

40.

41.

42.

43.

44,

45.

46.

47.

48.

49.

A. maximum
C. minimum

If function f(x) if maximum or minimum at x=a then f'(a) =

A 0

C. 1

d

—(log3) =

OIX( 93)=__
A. 1/3

C. 0

If y=f(u) and u=g(x) then jx =

A, dy du
_+_
du dx

C. dydu
dx dx

X

A -1/%+c

C. -x+c

I3x2+exdx=

A C+e+c

C. 3(+e")+c

[
X“+1

A.  log(x*+1)+c

C. 2xtan™x+c

[sin(ax+bydx=__
A.  sin(ax+b) o
a
C.  cos(ax+b) o
a
I X’ 2xdx =
A e e
C. e'+c

Isinz X C0s Xdx =

A.  2sinXcos’X-sin®x+c
C. sin x

3

2

j2xdx:

1
A 4

C. 5

/2

I cos Xdx =
0

A 1

C. 0

/2

_[ sin xdx =
-m/2
A 1

Increasing
Decreasing

a
2

log3

dy _du
du dx
dy du
du dx

logx+c
1

6x+e*+c
XC+e*+C

-(+1)2+c
tanx+c

—acos(ax+b) +c

cos(ax +b)
———~+C
a

er +C

None of these

2sinx-sin?x+c
sin® x
+C
3
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50.

51.

52.

53.

54,

55.

56.

S7.

58.

59.

60.

C. O D. -2
Area of region bounded by y=f(x), x=a, x=b and X-axis is obtained by

A B.
I dx _[ ydx
C. 2ab D.  None of these
I log xdx =
A.  X(logx-1)+c B. 1ix+c
C. xlogx-1+c D.  None of these
_[ cot xdx =
A. log|secx|+c B. log|cosx|+c
C.  -cosec’x+c D. logsinx|+c
”'/[2 cosX__
5 COSX+sinx
A. 1 B. T
4 4
C. =« D. O
2
Area of region bounded by y=1, x=0, x=2 and X-axis is
A.  lunit B. 2unit
C. 3unit D.  None of these

Volume of solid generated by revolving region bounded by y=f(x), x=a and x=b
around X-axis is

A j'yzdx > j.xzdy
“ ﬁjyzdx > JZ"TXZdy

Volume of solid generated by revolving region bounded by y*=x, x=1 and x=2 around
X-axis is

A 3z B. T .

— unit — unit

2 2
C. munit D.  None of these

. . . d’y _dy .
Order of differential equation —;3 +2d——y:0 is
X
A 1 B. O
C. 3 D. 2
Degree of differential equation [ j (d_yj +y=0is
X
A 4 B. 3
C. 2 D. 1
Differential equation of y=a cos(x+c) is
A. dzy B. dzy
-y=0 +y=0

a7 ae Y

C. d2y D.  None of these
—+ a’y=0

dx
Differential equation of y=ax? is
AW oyco B dy 50

dx dx
C. x%—Zy:O D.  None of these
X
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61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

General solution of differential equation of order two contains

+Py=Q

+ﬂ:0

constants
A 0 B. Infinite
C. 1 D. 2
Which of the following is standard form of linear differential equation?
2

dy +Py=Q B. d?%

dx dx?2
C. ﬂ+ Px=Q D.  None of these

dx
Solution of differential equation xdx-ydy=0 is
A, X+y’=c B. xy’=c
C. X-y*=c D.  None of these
Solution of differential equation ydx+xdy=0 is
A.  Xx+y=c B. xy=c
C. X*+y*=c D.  None of these
What is the order of differential equation whose solution is y=asinx+bcosx?
A 3 B. 1
C. 2 D. 4
Which of the following is not the differential equation?
A.  xydy+xydx=1 B. y=secx

2

dx dx?

Degree of the differential equation tan (%) +y=0is
X

A 1 B. 3
C. 2 D. Not defined
For differential equation %+ 7y=¢", LLF.=
A e B. 7¢*
C. ¢ D. 7x
For differential equation %+COI Xy =sinx, LF.=
A.  -sinx B. ™
C. sinx D. cosx
Order of the homogeneous function f(x,y)=x’+xy is
A 0 B. 1
C. 2 D. 3

*khkhkhkhkhhkhkhkhkkkkk
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10.

11.

12.

13.

14.

sl

ysl ady [Qscu
As AvAl 3+2i oll cllrd(ds cLoL

2+i
1-2i

o -

2+4i
1+2i

nCosé + in sind
Cosn® - i sinnd

-i
-1

A ol C oA
2i

[EEN

f(x)-f(y)

A 2 B.
C. 0 D.
ol Z=4+3i cl |Z|=
A 4 B.
C. 3 D.
ol Z=2+i cll Wil A AvaUl Z =
A 2-i B.
C. 1+2i D.
A5 AvAl 1+ ol slalis 6 8.
A T B.
C. w4 D.
Al Z,=2+3i Wl Z,=1+i cl Zy+Z5=
A.  3+4i B.
C. 4+3i D.
R atib=— dla=

1+2i
A. 5 B.
c. 1 D.
USSR AvAL HL i=
AN B.
c. D.
(cos@ +isin@)" =
A. Cos"g+isin"g B.
C. Cosnf +isinnb D.
o x?+1=0 cll x=
A B.
c. 1 D.
V-
A 2
c. -2 D.
o f(x) = x*+1 cl f(2)=
A 3 B.
cC. 2 D.

1 1

W f(x)=— ol f(X)+f (-j:

X+1 X
A 0 B.
c. 1 D.
ol f(x) = logx Al f(xy)=
A T(X)+f(y) B.
C. f(x) f(y) D.

%\ f(x) = sinx Al f (%) =

f(x+y)
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15.

16.

17.

18.

19.

20.

21.

22.

23.

24,

25.

26.

A 0
C. ¢

. x—1
lim———=
x>l X —3X+ 2
A -1
C. 2

. 20 -3

lim =
x—0 X
A. log(6)
C. log2

d, .

i (sinx)=__
A.  -COSX
C. Sinx

d .«

o 2)=___
A. log2
C. 2%og2

d
&(xz—log X) =

A 2x-l
X
C. 2x1
i(eX +2tanx) =
dx

A. e+ sec’x
C. e*+2secxtanx

il OR[N

nxn-l

As ugl o8l

[EEN

[EEN

log(2/3)
log3

coSX
sec’x

2X
2"+log2

2X+—

2 sec’x
e*+2 sec’x
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27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

d
2 (xlogx) =
OIX(X gx)=____

A.  x+log x B. 1/x

C. x-logx D. 1+logx

%(sin2 X) =

A. Sinxcosx B.  2sinx

C. Sin2x D. cos’x

di (e2x+5) —

A eZ® B. 2%

C. e* D. 2xe¥*
2

W (COS X) =

A. -sinx B. sinx

C. -cosx D. cosx

%l y=sint ol x=1+cost cll % =
X

A. -cot X B. cot X

C. tanx D. -tanx

i(Iog(sin N=___

dx

A. cotXx B. tanx

C. -tanx D. -cotx

) —

dx\ x+1

A. -1 B. 1
(x+1)° (x+1)

C. 1 D. X
(x+1)° (x+1)°

d 24X

—(xe") =

OIX( )=

A, 2xt+et B. (X*+2x)e

X
C. 2 D A5 ugl o8l

% y=2at W x=at? cll % =

A T B. 2t

C. 2a D. 1/

| s=t?+2t+1 cll t=1 A3 AdL v=

A 2m/s B. 4m/s

C. 1mils D. 3m/s

%l f'(@)=0uA f"(@)>0 ll f A “a” UL 9.
A Yot B. «@

C. RolrtH D. o2

ol [Qut f(x) B x=a WU HETH WUl folciH Sl Al f'(a) =
A 0 B. a

C. 1 D. 2

% (10g3) -

dx —
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40.

41.

42.

43.

44,

45.

46.

47.

48.

49,

50.

51.

A 1/3 B. log3
C. 0 D. 3
%l y=f(u) Al u=g(x) cll %:_
X
A dy du B dy_du
du dx du dx
C. dyd D.  dydu
dx dx du dx
X
A, -1+ B. logx+c
C. -x+c D. 1
I 3x? +e*dx =
A 3C+e’+c B. 6x+e’+c
C. 30’+e")+c D. X+e*c
[ 2 g
X°+1
A.  log(xX°+1)+c B. -(X*+1)%+c
C. 2xtanx+c D. tanlx+c
j sin(ax +b)dx =
A.  _sin(ax+b) . B. —acos(ax+b)+c
a
C.  cos(ax+bh) +C D.  cos(ax+h) +C
a a
I e’ 2xdx =
A X 4c B. e¥+c
C. e+ D. A5 ugl <18l
'[sinz X C0s Xdx =
A.  2sinXcos’X-sin®x+c B.  2sinx-sinx+c
C. sinx D. sin®x
— t +C
3
2
IZxdx:
1
A 4 B. 3
C. 5 D. 2
7/2
J' Cos Xdx =
0
A 1 B. -1
C. O D. 2
/2
j sin xdx =
-/2
A 1 B. -1
C. O D. -2
y=f(x), x=a, x=b ol X-&l a3 ARAAC Yt als AASN 0.
A. b B. b
I dx '[ ydx
j log xdx =

10/12



52.

53.

54.

55.

56.

S7.

58.

59.

60.

61.

A.  X(logx-1)+c B. 1/x+c

C. xlogx-1+c D. QAs uel &l
'[ cot xdx =
A. log|secx|+c B.  log|cosx|+c
C.  -cosec’x+c D. logsinx|+c
/
I _COSX gx=
5 COS X +Sin X
A Y B. w4
C. w2 D. O
y=1, x=0, x=2 Aol X- & dd RAAJACL Yt 2lof AASN 8.
A 138K B. 2y
C. 3qsu D. Qs ual a8l
y=f(x), x=a A x=b dd AAAAL Y& 2] X-wel AU UReHeell slotcll
tole] Ual§OL 8.
A. b B. b
J' yZdx I x*dy
C. b D. b
ﬁj y“dx T _[ x*dy

y2=x, x=1 ol x=2 a3 ARAAA Y 2lo] X-w&l AW URHR tlotdl Hoto]
ol g0 8.

A 3T Qe B 7 Qsu
2 2
C. rAsu D. A5 ual o8l
@Qsct -m[lsegt +2%—y 0olsal __ ®.
X
A 1 B. 0
C. 3 D. 2
a2y (dy)’
@Qsct wllseg |2 —(—y) Ly =00 URHWE ®.
dx dx
A 4 B. 3
C. 2 D. 1
y=a cos(x+c) of [Asc uls:0l .
-0 — Y iy=0
ax? -y dx? Y
C. (2 D.
d2/+a2y:0 As ugl olel
dx
y=ax? of [Asct wHlls0el 8.
AW oo B dy 50
dx dx
c. x%—Zy:O D A5 ug o8l
X
A sell adlow [@sAd wHlsR0L ol cUus G3A ML R wANLS sl B.
A 0 B.  waival
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62.

63.

64.

65.

66.

67.

68.

69.

70.

c. 1 D. 2
o1A U8l Yw [@Asc Als0l of YHIEQld e U 53y B?

A dy B. d?%
= L py= =7 =
o TPy Q v Py=Q
c. %+ Px=0Q Do s ugl otél
X
@Qsc w50l xdx-ydy=0 ol G3ct .
A, XC+y’=c B. x%’=c
2 -
AQsc uls0l ydx+xdy=0 ol G3ct .
A.  x+y=c B. xy=c
C. xX#y'=c D. s ugl «dl
y=asinx+bcosx Boll G¥ct dlal A @sct uHls:w o saw decll sla?
A 3 B. 1
C. 2 D. 4
(1A U8l 5 [Asct sl otell?
A.  xydy+xydx=1 B.  y=secx
C. d D. 2
dx dx?  dx
yls20L tan(%}+y:0°ﬂ sell ®
X
A 1 B. 3
C. 2 D. vl

@Qsct aHls:0 %+7y:ex, U2 ILF.=

A e B. 7¢&
C. ¢ D. 7x

@Qsct aHls20 %+cotxy:sinx, U ILF.=

Sinx

A.  -sinx B. e

C. sinx D. cosx
AHURHIRL (@R f(x,y)=x*+xy ol set .
A 0 B. 1

C. 2 D. 3

*khkhkhkhkhhkhkkkx
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